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J| 250,000 250,000 0
== 79,500 79,500 0
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MAEQ TAISRS &4 L 2e|(=sHollYrat/ARd - ALE) 5,023,611 4,392,490 631, 121
SRIE L 2e] 5,023,611 4,392,490 631, 121
g P 1,613,117 1,562,490 50,627
101 el44| 170,545 137,298 33,247
04 JIZHHI22 S ES 170,545 137,298 33,247
OEAIZSE 22| 2IF
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201 et 3| 96,872 99,892 A3,020
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A 5,400,000 5,400 6,000 2600
O3 X AXHS2EY)(HAEZ)
ZA 21,600,000 21,600 24,000 A2,400
401 AIEBIZL S008I 1,309,000 1,290,000 19,000
01 Al&H| 1,304,536 1,285,536 19,000
O32MY A = =49
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405 KHAEE S| 5,400 4,000 1,400
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AA 129,6662%20,080m 2,603,6%4 2,430,000 173,694
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01 A E4H| 100,000 0 100,000
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206 M=l 79,100 119,100 240,000
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01 AR ESEFHSHI 900 1,000 A100
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OS20HAH(ZZDHE B2=2)
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EASILUREIH(ZZINE 2E52)
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SBEXE 1,150 0 1,150
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